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With one or two optional transfer tracks:

These two turnouts should operate
in unison. When one is lined for the
transfer, so should the other.
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Transfer T1 always connects with track 1 and track 3.
Transfer T2 always connects with track 2 and track 4.
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5‘\9‘\3\ 2 Transfer tracks T1 & T2 are optional.

Azatrax TS5-Xing. An Azatrax MRD1-NV is needed for detector D5.
Turnout T3 is always on track3. Turnout T4 is always on track 4. Use one, not both.
Note the placement difference of T3 vs. T4, relative to the transfer track turnout.
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